FUNDING REQUEST FOR FLOOD RELIEF 2022

Requested By: "The Board of Directors of the Pakistan Bible Correspondence

School"

Attention: Concerned Department

Project Name: **HELP FOR FLOOD RELIEF 2022**

Project Director: Adeel Samuel

Caretaker/Executive Secretary (PBCS, National Office)

Project Coordinator: Rev. Aftab Anjum

Address: David Villa, Near G.T.S., Faisalabad, Pakistan.

P O Box 117, Faisalabad-38000

Phone: 0092-41-2610484 (Pak. Time Mon to Fri 9:00am-5:00pm)

Email: nationaloffice pbci@yahoo.com

pbcs1957@gmail.com

info@pbcipk.org

Website: www.pbcipk.org

Registration No: RP/1433/S/77 (Under Registration society's act 1860)

National Tax No: 43576966 (Federal Board of Revenue, Govt. of Pakistan)

Charity Commission: PB 6604891038995049

Economic Affairs

Registered with Economic Affairs

Division:

Division of Pakistan

Amount Requested: US\$ 39,100/-

(Thirty-nine Thousand One Hundred US Dollars Only)

Bank Details: IBAN: PK 26 HABB 0001 4300 2387 8801

ACCOUNT # 01430023878801

TITLE: PAKISTAN BIBLE CORRESPONDENCE SCHOOL (PBCS)

ADDRESS: HABIB BANK LTD. CIRCULAR ROAD BRANCH, FAISALABAD,

PAKISTAN.

Project Submitted on: August 26, 2022.

Respected Sir/Madam,

Greetings to you! We hope you are doing well and busy serving the needy people. PBCS is serving as an outreach Ministry and providing the Humanitarian services as well. PBCS is a registered outreach ministry in Pakistan. It was established in 1957 with a vision to reach out preferably to those who never heard the message of salvation, and then to Christians with God's Word through English and Urdu Bible Correspondence Courses. We have a variety of programs and humanitarian aid projects as well.

Pakistan's present situation after heavy monsoon rainfall and floods

This June to August 2022, the rainfall and floods in Pakistan have affected almost 2.3 million people. Since mid-June at least 95,350 houses have been destroyed and more than 224,100 were damaged. Sindh and Balochistan are the two most affected provinces in terms of human and infrastructural impact. Over 504,000 livestock have been killed, nearly all of them in Balochistan Province, while damages to nearly 3,000 km of roads and 129 bridges have impeded access across flood-affected areas. At the request of the Balochistan Provincial Disaster Management Authority (PDMA), a multisector rapid needs assessment was undertaken in 10 districts of Balochistan to identify priority needs and gaps across sectors.





The majority in Sindh province, taking the death toll to 777 since mid-June, and 59,665 houses were damaged, taking the total damaged houses to 176,436, mostly in Sindh and Balochistan. According to National Disaster Management Authority (NDMA), as of 21 August, around 1,868,098 people were rescued, and 317,896 individuals are living in relief camps across the country. In Sindh, as of 20 August, 1,356,863 people are affected, with 309,944 households affected and around 495,381 displaced due to floods in the province. KPK Province and Southern Punjab also became destroyed by flood. Here are a few links for direct news:

https://tribune.com.pk/story/2372951/sindh-govt-calls-for-help-for-distressed-displaced-flood-affected-people

https://www.dawn.com/news/1706693/kp-flooding-punjab-hill-torrents-claim-eight-lives

https://www.ndtv.com/world-news/over-50-villages-in-pakistan-submerged-in-flash-floods-report-3210040

KARACHI: Sindh Chief Minister Mr. Syed Murad Ali Shah in his emergent televised message aired live by all news channels has urged philanthropists to come forward and help rain and flood-affected people of the province. https://tribune.com.pk/story/2372951/sindh-govt-calls-for-help-for-distressed-displaced-flood-affected-people

LAHORE: Chief Minister of Punjab Mr. Pervaiz Elhai pledges a relief package for flood-affected and declared all flood-hit areas calamity-hit and announced the emergency, waiving off water rates and land revenue in flood-affected areas of Rajanpur, Taunsa, Dera Ghazi Khan Esakhel. https://www.thenews.com.pk/print/984672-pervaiz-pledges-relief-package-for-flood-affectees

Humanitarian partners are supporting the Government-led response in affected areas, providing resources to meet the most urgent needs while working to further scale up the response. Although, the Government of Pakistan is doing something to save the affected people due to limited sources it is becoming hard to manage and help to secure the flood victims.

PBCS has already done some work for the relief of Earthquake victims in 2005 and flood victims in 2010. We distributed blankets, clothes, and food items for flood relief in 2010.









PBCS Old Pictures darning distribution in 2010

One of our five centers is the PBCS Hyderabad center. We have come to know about the situation through print and electronic media and even Mr. Nawaz (Principal of PBCS Hyderabad Center) has also reported to us about the dangerous circumstances prevailing in the Sindh Province. One of our Staff members Mr. Arbello (PBCS Hyderabad Center) also reported that his whole town including his own house was destroyed by the flood. He is also one of the victims where almost 300 families have lost their houses. All affected villagers are in need of shelter and food etc.

At this time, it is an urgent request to support the victims of rainfall and flood in Pakistan. Normally, the winter season starts in October. The victims will need warm clothes and other necessities for their families as well.

Link for Flood victims https://pbcipk.org/newsletter/floodareapic.pdf

РВ	CS estimated Bud	lget for	300 Famili	es Urgent Need
No	ltem	Per family	Rates Per KG/ Item	Total (PKR)
1	Wheat Flour	20 Kg	90	1,800
2	Cooking Oil	5 liter	579	2,895
3	Rice	2 Kg	250	500
4	Milk	5 Kg	160	800
5	Lentils	3 Kg	333	1,000
6	Spices	Mixed	500	500
7	Bed Sheet	Each	2000	2,000
8	Blanket	Each	5000	5,000
9	Sugar	5 Kg	100	500
10	Tea	500g	700	700
11	Tent	Each	10,000	10,000
One package for each family (PKR)				25,695
300 Families*one package25,696				7,708,500
Packing Services				230,000
Freight				390,000
Traveling				70,000
Miscellaneous				125,000
Total PKR				8,523,500
Total US\$				39,100

God bless you abundantly!

Regard,

Rev. Aftab Anjum
Project Coordinator

aftabanjum@pbcipk.org

The Board of Directors of

The Pakistan Bible Correspondence School